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  leading	
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Show	
  how	
  this,	
  in	
  principle,	
  determines	
  the	
  solution.	
  At	
  each	
  point	
  in	
  space	
  time	
  two	
  
charact
initial	
  data,	
  which	
  combined	
  gives	
  the	
  solution	
  at	
  the	
  point.	
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  are	
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  for	
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  explicitly,	
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Assume	
  u
as	
  long	
  as	
  characteristic	
  form	
  applies.
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  first	
  order	
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  Flow	
  and	
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  Flows.	
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In	
  this
	
  

	
  case,	
  again,	
  shocks	
  are	
  the	
  appropriate	
  answer.	
  

Shocks	
  in	
  Gas	
  Dynamics:
• Rankine-­‐Hugoniot	
  jump	
  conditions	
  (and	
  graphical	
  interpre

	
  
tation).	
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